EPRS I European Parliamentary Research Service



EU funding in non-EU countries for the expansion of fruit growing

Request number: <u>116317</u>

Requested by: ROBU Adrian

Requested for:

Date of request: 13 March 2024

Answered by: VERNET Anne

The information supplied in this document (and any attachments) is intended solely for Members and the staff of the European Parliament. Links to information sources within this document may be inaccessible from locations outside the European Parliament network. The European Parliament will not be held liable for any damage resulting from the handing on to third parties of information protected by copyright or any other improper use of this material. The information does not necessarily reflect the opinion or position of the author or of the European Parliament.

Personal Data Protection Notice

18/03/2024

EU funding in non-EU countries for the expansion of fruit growing

Publically available data from EU Aid Explorer, the database that shows where the EU and Member States provide external development assistance, **does not allow us to provide a specific answer on how much money the EU has disbursed in partner countries to support fruit growing**.

We can only retrieve data on the amount of EU development aid funding allocated to the sector "Food crop production" which includes: grains, horticulture; vegetables; <u>fruit and berries</u>; other annual and perennial crops.

Below is the total amount per country of disbursements made between 2007 and 2023 for the sector Food crop production, extracted from EU Aid Explorer:

Recipient	DISBURSEMENT €
Afghanistan	6.883.143
Africa	4.813.930
Albania	926.128
Algeria	758.930
America	3.227.172
Angola	5.763.005
Argentina	368.148
Armenia	84.311
Asia	2.197.231
Azerbaïjan	207.357
Bangladesh	1.676.930
Belarus	5.051.786
Belize	1.444.983
Benin	42.126.445
Bolivia	35.950.181
Bosnia-Herzegovina	2.221.464
Brazil	62.514.805
Burkina Faso	14.219.060
Burundi	26.095.069
Cabo Verde	616.556
Cambodia	10.351.673
Cameroon	9.517.381
Central African Republic	6.457.674
Central America	100.000
Central Asia	1.000.000

EPRS | European Parliamentary Research Service

EU funding in non-EU countries for the expansion of fruit growing

Chile 185.717 China 2.268.488 Colombia 11.690.554 Comoros 288.000 Congo 1.567.599 Costa Rica 980.006 Croatia 43.943 Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 <th>Chad</th> <th>2.361.615</th>	Chad	2.361.615
China 2.268.488 Colombia 11.690.554 Comoros 288.000 Congo 1.567.599 Costa Rica 980.006 Croatia 43.943 Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guirea 15.211.179 Guinea 15.211.179		
Colombia 11.690.554 Comoros 288.000 Congo 1.567.599 Costa Rica 980.006 Croatia 43.943 Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea 15.211.179 Guinea-Bissau 5.879.919<		
Comoros 288.000 Congo 1.567.599 Costa Rica 980.006 Croatia 43.943 Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933		
Congo 1.567.599 Costa Rica 980.006 Croatia 43.943 Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea 15.211.179 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 <		
Costa Rica 980.006 Croatia 43.943 Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guirea 15.211.179 Guinea 15.211.179 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 <		
Croatia 43.943 Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guitemala 18.115.139 Guinea 15.211.179 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
Cuba 9.412.406 Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401<		
Democratic People's Republic of Korea 4.305.665 Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea 15.211.179 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
Democratic Republic of the Congo 57.161.054 Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guitemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
Djibouti 201.728 Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	<u> </u>	
Dominican Republic 4.724.588 Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
Eastern Africa 258.000 Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	•	
Ecuador 11.984.848 Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guinea 15.211.179 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	'	
Egypt 591.850 El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
El Salvador 9.083.673 Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
Equatorial Guinea 237.439 Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
Eritrea 498.183 Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401		
Eswatini 110.445 Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	<u> </u>	
Ethiopia 37.606.831 Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Eritrea	498.183
Europe 2.537.202 Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Eswatini	110.445
Far East Asia 3.612 Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Ethiopia	37.606.831
Fiji 900.000 Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Europe	2.537.202
Gabon 20.058.475 Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Far East Asia	3.612
Gambia 7.980.479 Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Fiji	900.000
Georgia 2.523.299 Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Gabon	20.058.475
Ghana 36.252.731 Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Gambia	7.980.479
Guatemala 18.115.139 Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Georgia	2.523.299
Guinea 15.211.179 Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Ghana	36.252.731
Guinea-Bissau 5.879.919 Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Guatemala	18.115.139
Guyana 71.169 Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Guinea	15.211.179
Haiti 22.234.933 Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Guinea-Bissau	5.879.919
Honduras 4.870.806 India 4.944.176 Indonesia 3.479.401	Guyana	71.169
India 4.944.176 Indonesia 3.479.401	Haiti	22.234.933
Indonesia 3.479.401	Honduras	4.870.806
	India	4.944.176
Iran 17 967	Indonesia	3.479.401
1	Iran	17.867
Iraq 112.768	Iraq	112.768
Ivory Coast 29.952.677	Ivory Coast	29.952.677
Jamaica 915.562	-	
Jordan 2.287.720		
Kazakhstan 2.000		
Kenya 36.319.412		
Kiribati 82.306	•	

EU funding in non-EU countries for the expansion of fruit growing

Kosovo	470.636
Kyrgyz Republic	3.000
Lao People's Democratic Republic	1.944.125
Lebanon	8.501.714
Lesotho	1.451.706
Liberia	8.968.700
Madagascar	16.796.805
Malawi	32.770.762
Mali	29.582.813
Mauritania	6.442.064
Mauritius	99.875
Mexico	369.896
Middle East	2.000
Moldova	74.007
Mongolia	1.586.634
Morocco	21.585.391
Mozambique	24.127.561
Myanmar	6.435.925
Namibia	163.729
Nepal	1.693.463
Nicaragua	19.712.154
Niger	7.448.602
Nigeria	3.368.511
North Central America	20.301.224
North of Sahara	3.177.117
Oceania	1.270.718
Pakistan	5.346.224
Panama	939.007
Paraguay	3.843.378
Peru	23.714.195
Philippines	3.281.692
Rwanda	17.073.007
Sao Tome and Principe	647.941
Senegal	18.900.837
Serbia	42.575
Sierra Leone	3.642.220
Somalia	22.274.048
South Africa	1.145.550
South America	5.269.494
South of Sahara	70.441.509
South Sudan	21.986.769
Sri Lanka	1.292.179
St Lucia	1.016.000

EU funding in non-EU countries for the expansion of fruit growing

StVincent Grenadines 4.000 Sudan 4.010.023 Suriname 4.043.103 Syria 14.034.098 Tajikistan 130.568 Tanzania 17.594.987 Thailand 1.330.112 Timor-Leste 2.363.996 Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025 Zimbabwe 6.864.068	Ct) (in count Cuouna din co	4.000
Suriname 4.043.103 Syria 14.034.098 Tajikistan 130.568 Tanzania 17.594.987 Thailand 1.330.112 Timor-Leste 2.363.996 Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025		
Syria 14.034.098 Tajikistan 130.568 Tanzania 17.594.987 Thailand 1.330.112 Timor-Leste 2.363.996 Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Sudan	4.010.023
Tajikistan 130.568 Tanzania 17.594.987 Thailand 1.330.112 Timor-Leste 2.363.996 Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Suriname	4.043.103
Tanzania 17.594.987 Thailand 1.330.112 Timor-Leste 2.363.996 Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Syria	14.034.098
Thailand 1.330.112 Timor-Leste 2.363.996 Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Tajikistan	130.568
Timor-Leste 2.363.996 Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Tanzania	17.594.987
Togo 5.647.858 Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Thailand	1.330.112
Tunisia 1.169.409 Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Timor-Leste	2.363.996
Türkiye 62.398 Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Togo	5.647.858
Uganda 27.151.863 Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Tunisia	1.169.409
Ukraine 1.027.284 Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Türkiye	62.398
Unallocated 251.644.469 Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Uganda	27.151.863
Uruguay 355.214 Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Ukraine	1.027.284
Uzbekistan 3.500 Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Unallocated	251.644.469
Venezuela 124.258 Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Uruguay	355.214
Viet Nam 15.693.200 West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Uzbekistan	3.500
West Bank And Gaza Strip 28.489.595 Yemen 22.525 Zambia 10.050.025	Venezuela	124.258
Yemen 22.525 Zambia 10.050.025	Viet Nam	15.693.200
Zambia 10.050.025	West Bank And Gaza Strip	28.489.595
	Yemen	22.525
Zimbabwe 6.864.068	Zambia	10.050.025
	Zimbabwe	6.864.068